0.05]

-0.05

|
I
s

-0.15

Ratio

< 00, > (M)

<opyp, > ()

Ratio

<o @> (rad)
o
=
a1

-0.2F—ts

x1073

(@)
TIT [T T [ TI T[T T[T I T I T[rrrT

0.5

H +
. *
e I
- . .
. -
H +
R R B LR P
e I I
el o bl v v ]
= T T I e
L B +
r +
L + +

=
o
iN

1

2 3
TPlpoT (PCA t%obeamlinélf)

< dcotl>)
o
=
a1

...............................

...............................

—=— DQM_V0001_R000000001__Global__cmssw__RECO
—e— DQM_V0001_R000000001__Global__mkFitOriginal__RECO
—— DQM_V0001_R000000001__Global__mkFitNew__RECO

100—

®
o
I

o
=]
I

N
o
I

20F-{1-1f

-+

+

..........................

...........................

I : 2 3
TPl[:g)T (PCA t%)obeamlin%)o

=1
g 100 TR
2 0F-HTHH T4
A F +{[1): T
3 60F-HHf R SIIER
e} r + .
v 40 HHE PR
r T+ :
20 L FEERE REREEEEE REEEEEEEEEE
Of R R SR
-20F ".é“ b , .....................
o A4 .
=40 -t {*H1 AT R ERRRREE SRR R
PO 1L N 1 U SO
-80F B
o100ttt i bl sl
s P T E
@ r +
0.5_— """""""""""""""""""""

1

2 3
TPlp?T (PCA tjbobeamliné'f)



	Contents
	Page 1


